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Which of the following is closest to the percentage of the total water on earth
that is fresh water?
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Towns 1, 2, and 3 are located north of towns 4 and 5. They are all built on a plain.
[t was sunny in town 1 on Monday but was raining in towns 2 and 3.

A wind is blowing in all the towns from the north.

North

South

If the wind continues to blow from the north, what will the weather most likely
be like in towns 4 and 5 on Tuesday?

(& rainy in both
sunny in both
(© sunnyin4and rainy in 5

(D) rainy in4 and sunny in 5
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An Earth vear is the J-_-ng[h of time it takes for

Earth to rotate once on 1ts axs

ey

the Moon to revolve once around Earth

o LBy

N

([©3  the Sun to revolve once around Earth

77 Earth to revolve once around the Sun
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O a river near a town the government decided to build a dam for elec tricity and
irrigation purposes. Write down one effect the dam could have on
wildlife {ammals or plants).
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Note: A correct response must include a specific efTect on wildlife (positive or negative) due to the dam.
WVague or general responses that state only that plants/animals will die (or similar) with no specific
effect given are scored as incorrect (Code 70). Mentioning only irrigation for farms/crops for

human benefit is also scored as incorrect (Code 79). [f more than one effect is given, then the
code corresponding to the first correct effect should be used even if other incorrect effects are
given. Since only one effect is required, the incorrect portion is not considered unless it negates
the correct portion of the response.

[ Code | Response Item: S032519

| I Correct Response

10 States a specific negative effect of the dam on wildlife (change in habitat, water supply, food
supply, etc.).

Examples:

There will be nowhere for the animals to live.

There may be a shortage of water below the dam for wildlife.

ft could destroy the homes of animals and they would became extinct.

Animals that live in the water or need to drink there would not be able to.

11 States a specific positive effect of the dam on wildlife (change in habitat, water supply. food
supply. etc.).

Examples:

_I‘T’I[.’ Lft{?!l care l[')fl}l‘!‘b{i!.’ rRore wd t‘(.’f_lr—(.?nr I}i(.’ MJ!E‘!J’IH.E_‘S “ FJ[J ve fh 54 L-IL! .

Plants in the area would have a permanent source of water so they would not die out.

The pool above the dam would create a place for fish to live.

Note: Irrigation for human benefit given in the stemn is not accepted as a correct positive effect;
these responses should be given Code 79.

19 Other correct

| I Incorrect Response

70 States only that plants or animals will die or similar. [No specific effect given.]
Examples:
Plants and animals are going lo be destroyed.

The wildlife will die.

71 States an incorrect effect that reflects a misconception about dams.
Examples:

Electricity will flow through the water and kill the fish in the river.
The dam creates radioactivity that can kill the animals

79 Other incorrect (including crossed out/erased, stray marks, illegible, or off task)

| | Nonresponse
99 l Blank
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Explain how soil is formed.
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Code | Response | Ttem: S042307
Correct Response
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Incorrect Response

79 | Incorrect (including crossed out, erased, stray marks, illegible, or ofT task)

‘ ‘ -Nnnrespnnse
99 | Blank
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Code ‘ Response | Item: S042307

‘ Correct Response

10 | Refers to soil being formed from broken down rocks (minerals, dirt, sand) AND decaying
organic materials/plants/animals.

Examples:

Soil is formed when rocks break and are broken into pieces. They are then mixed with dead plants
and animals which have decayed to different nutrients.

When rotting vegetation, dirt, and sand get mixed, it creates soil.

11 | Refers to soil being formed from broken down rocks (minerals, dirt, sand).
Examples:

Rocks deteriorate and break down until it is a soft dirt.

Soil is formed from lots of substances that are rocks, stones, water, and mud.

12 | Refers to soil being formed from decaying organic materials/plants/animals.
Examples:

From decayed materials.

Soil is formed by decomposing plants and animals, which will create a nutritious soil.
It is formed from compost.

\ Incorrect Response

79 | Incorrect (including crossed out, erased, stray marks, illegible, or off task)

‘ Nonresponse

99 | Blank
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